ENAEIKTIKEZ AYZEIZ

[IPOTPAMMA 6#po 4
METABNAHTEXZ
AKEPAIEZ: i, j, EIN[100, 2], mA, temp
XAPAKTHPEZ: ON[100], temp?2
APXH
4.1
I'TA i AIIO 1 MEXPI 100
ATIABAZE ON[i]
T'IA j AINIO 1 MEXPTI 2
AIABAZE EII[1, j]
TENOZ ENANANHVHE
TENOZ ENANANHVHE
4.2
nA <- 0
TIA i ANNO 1 MEXPI 100
AN EII[i, 1] > EI[i, 2] TOTE
oA <- A + 1
TEAOE_AN
TENOZ_ENANANHVHE
TPAVE 1A
4.3
TIA i AINO 2 MEXPI 100
TIA j ANO 100 MEXPI i ME BHMA -1
AN EN[j - 1, 1] < EN[j, 1] TOTE
temp <- EI[jJ - 1, 1]
EO[j - 1, 1] <= EIO[3, 1]
temp2 <- ON[j - 1]
ON[j - 1] <- ON[J]
ON[]j] <- temp2
TENOE_AN
TENOZ ENANANHVHE
TENOX ENANANHYHE
T'TA i AIIO 1 MEXPI 100
TPAVE ON[i]
TENOZ ENANANHVHE
TENOZ_IIPOT'PAMMATOZ



